7 LIGHTING
O wsTraLin

Suspension Set
LA Part No: LASUSSET/300

Contents:

BELT 2057.1301
Ceiling Attachment

BELT 3040.1301 (NUT)

BE41500
Griplock M10X1 with safety lock

BES4X3.0
Wire Rope

PE4-M10X1
Nut M10xT 14x4mm

PE17X10X0.5
Shakeproof Washer

Ceiling Aftachment:

» Brass with chrome plate

+ 2 piece for nipple end wire
+ Screw fix to ceiling

« @7mm fixing hole

Griplock:
Brass with chrome plate
M10X1 fixing thread
Automatic clamp 15kg rated
Screw safety lock

Wire Rope:

+ 300 cm length

* @1.2mm 7x7 49 strand

+ Stainless steel with die cast nipple

Lighting Australia Pty. Ltd. Reserves the right to change product specification without notice.




